Q dESY 7| SEEN01-422)

ST |A (97|27 20239 012 212 17A| ~ 018 22 17A))

[2023FH O1E 21 17A| £E | Ol 22 : 5{oi=
- 25 IHE 98, Y 2 B & -

> 27Ihg

O (23) dMI7A]), ZESE2 Bl §530| 3ktekm/h) 2 of5HA 21 A2 A2 10km O| S IL|CE 25212)2 Aol &0l A
SHLE 0|3t 17|¢e deks 2ot M| = S LIt

O (L) MZOM Ci7teE 7|gtE0] Sebs Ak RS LICE TN 2 S2|1 2= o 0] 2| ZSL

Z|XM/E| 0712 O ol Z=Hmm) ol & H2=Hem)

[=]
(LHe) -5/3 1 O]t 1 0ot

> 2l 7IdoE
O (MAIE, TFE15) LiY(2e) 220 £0| Li2|= St 7HAIAZ| 7t 4km L2l 2 FHOFX| 24 1,000ft Li2|e| H2 FZ1 =S HO
ALt

AlZtE £330 =
2194 29
a4 17 18 19 20 21 2 23 00 01 02 03 04
4 4 4 4 4 4 4 4 4 4 4 4
R v v v v v v v v v v v
(14R-32L)
=Z0 =30 =20 =0 =20 =30 =20 2.0 =0 =0 =0 =0
iS5 HHES 85 E HES5 HHiES HHES H,HES E HEs5 1155 iS5 H,HiE5 E HiES5
22¢
05 06 o7 08 09 10 11 12 13 14 15 16
4 4 4 4 4 4 4 4 4 4 4 4
20 =z =z ==z zz0 =z == ==z =z =z == ==z
H,HES H,HES H,HE 5 65 H,HES H,HES H,HE 5 o HE5 H,HES =S H,HE 5 65
XE5Z/ QS 2 SE 2T 20 et High2 2|o|stn, thel= kY Of: '53: 4= 530 4kt S 2|0))
> ZEDIE
O 8=
O HARY
XE7|e A BEO| st RtMeh A2 287 4H ST 0| X|amokmagoknof A =l 4= & LT
X =AM 2to| SRt MotHS Gl FAXHS 7 HAL RIS = 2dESS 7| A (TEL 02-2664-0365 / FAX 02-2664-0366) 2
LE{ZFA|7| BT




